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(D) {Gx+2)(x—2)P=(x*—4)°
2 AGe—DE*+x+DHE+1) (P —x+1)}
=(x*=1D(x*+1)]
27 (1) x%+x*v*+y® (2) 8ac
(D G2’y +y") (=2 +y)
2 (t+c—a)=a*—2b+c)a+(b+c)? 2k
(BU#) (A*—B?)+(C*—D?
=(A+B)(A—B)+(C+D)(C—D) % FH,
WHE TSR 23]
28 (2) x*+3y*+3xy—1
[(1) (EB)=ala*+b*+c*—ab—bc—ca)
+b(a?+ b+ c?—ab—bc—ca)
+cla®+b*+c*—ab—bc—ca)
REMH L CHI%ESL
(2) (Ta=x, b=y, c=—1%,5]
29 (1) mab(m—a) (2) 6x*(x?+2)
(3) 3ac(3b*—2ac—bc) (@) x(x+2y-+2z)
(5) (@+b)(x—y) (6) (a—3b)(2a+b)

1 2
30 (1) @+2? @ (x—7) (3) (3a—2b)?

31 (1) Gx+5@x—5) () (10+a)(10—a)
(3) (6a+5b)(6a—5b) (4) 2(3x+4y)(3x—4y)
(5) 6abla+2b)(a—2b)
(6) (x+y—Dx—y+1)

6 {x+@y=D}Hx—(—1}]
32 (1) (x+D(x+20) @) (x—1)(x—20)
(3) (x+2)(x+10) @) (x—2)(x—10)
(5) (x+4)(x+5) (6) (x—4)(x—5)
(x—~1)(x+20) (8) (x+1)(x—20)
9 (x=2)(x+10) 10 (x+2)(x—10)

1) (x—4)(x+5) 02 (x+4)(x—5)
33 (1) (x+D(x+3) 2) (x—2)(x—4)
(3) x—Dx+9) @) (x+4)(x—6)

(5) (x~42y)(x+3y) (6) (x+3)(x—18y)
34 () Qx+1)x+6) 20 Qx—1){x—6)
(3 (2x—3)(x+2) 4 (2x+3)(x—2)

5) Qut+)+2) 6 Qr—3y)x—2y)
35 (1) @x—D(x—1) (20 Bx—4)(2x+3)

(3) (Bx+4y)(2x+3y)

~ v,

)
)
)
)

)
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36 (1) (a+b+1)(a—b+1)

2) (P+4)@*-17) ) (*+4)(x+2)(x—2)
37 (1) (@a—4)(Ga+2) (2) (4x—3y)*

(3) (2+a—b)2—a+d)

@) (x—69)(x—9y) (5) (3a+2b)(2a—7b)
6) (x2+9)(x+2)(x—2)
38 (1) (x+y+3)(x+y—6)

) (10x—3)(2x—3)
3) (x+6)(x—2)(x+2)?
4) (x+6a—3b)(x—2a+b)

[(1) x+y=A LBLL A2—34-18

(2), (3) bRk (3) HIE4 (1)BH

(@) 2a—b=A 1Lk x*+2Ax—34%]
39 (1) Qa+b+4)(2a+bd—4)

) (22+8) (x—4) (x+2)

(3) (a+b)(a—b)(x+1)(x—1)

4) (a+b+c)(—a+b+c)(@a—bd+c)

X (@a+b—c)

[(1) 2a+b=A £B L A*—4
(2) x*—x=A, x+8=B £ 8<
3) (az_bz)xz_(az_bz)
() (2ac)*—(c*+a*—b%?
=(a*+2ac+c*—b*) (—a*+2ac—c*+b%) ]
40 (1) (x+2y+22)(x+2y—22)
2) (x+3y—1)(x—3y+1)
B (—y+D)(x—y—2)
4) (x+2y+3)(x+2y+2)
(D) (x+2y)*—(22)* (2)
3) (x—y)*—(x—y)—2

4) (x+2y)*+5(x+2y)+6]
41 (1) (a+2)(a*—2a+4)

(2) (Bx—»)(9x*+3xy+y?)

(3) (4x—3y)(16x>+12xy+9y?)

(4) (5ab+2)(25a*b*—10ab+4)
42 (1) (x+Dx—1D(x+3)
(x+2)(x—2)(x—5)

(x—2) (x2—x+4)
(2x+1)(4x?+x+1) (5) (x+1)°
2x—3)* [(1) x*(x+3)—(x+3)
24 (x—5)—4(x—5) (3) (x*—8)—3x(x—2)
(8x3+1)+3x(2x+1)
(x*+1)+3x(x+1)

(
(
(

x2—(3y—1)?

W

T ERBESSR

=(r+1){(x2—x+1)+3x}

(BUR) %4322 143 %124 1°=(x+1)°
(B#) a*+3a’0+3ab*+b*=(a+b)®

a®—3a’b+3ab’—b*=(a—0)*]

43 (1) (@+DOB+D) 2 (x—2)(v—uw)
@) (x+y)(x—» -2

@) (a—c)(b—ac+c?)

[(1) (+1Da+®+1) @) (y—w)x+(zu—yz)
3) *—xDz+(x’y—y°)

@) bIZDVWTEET S,
(a—c)b—a*c+2ac*—c?
=(a—c)b—cla—c)*=(a—c){b—cla—c)}]
4 1) +y)+ty-1)
(x—y—2)(x—2y+1)
(x—2y—1)(x+y+3) @) (ax+b)(bx+a)
5) @x+y—1)(x—2y+3)
6) (3x—2y—1)(2x+3y+1)

[3) x*—(—2)x—2y+1)(y+3)

6) 2x*—By—5)x—(2y—3)(y—1)

6) 6x2+Gy+1)x—By+1)(2y+1)]
45 (1) —(a—b)(b—c)(c—a)

@) (a+8)(d+c)(c+a)

(3) (a+b)(b+c)(c+a)

(4) (a+b+c)(ab+bc+ca)

(1) (b—c)a*—(b*—c?a+b*c—bc?
=(b—c){a*—(b+c)a+bc}

(2) (b+c)a*+ (b*+c*+2bc)a+be(b+c)
=(b+c){a*+ (b+c)a+bc})

(3) (b+c)a*+{(b—c)*+4bc}a+bc*+bic
=(b+c)a*+(b+c)?a+bc(b+c)
=(b+c){a®*+ (b+c)a+bc}

) (b+c)a*+{(b+c)*+bcta+be(b+c)
={a+®+H(+c)atbc}]
46 (1) (x+3)(x—1)(x®+2x—1)
) (y+a+1D) (xy+y+1)
) (x—2)(x—6)(x*—8x+10)
) (x?+4x+6) (x*+8x+6)
1) x*+2x=A £8<
@) Cy+D{y+1)+x+y}+xy
=(xy+1)%+ (x+y) (xy+1) +xy
(3) {(x*—8x)+7}{(x*—8x)+15}+15
@) {(x*+6)+7x} {(x*+6) +5x} —3x2]

(@)
®3)
()
(6)

(2
(3
“
[(

47 (1) (3x+2y)(3x—2y) (9x*+4y?)

2 (x+3y)(x—3y) (x*+4y*)
48 (1) (x*+x+1)(x?—x+1)

(2) (x*+3xy+y*) (x*—3xy+v?)
(3) (x*+2x+2)(x2—2x+2)

@) (x®+5xy—y?) (x°—5xy—y?)

[ *+1)2—x* (2) (x*+3°)°—9x%*
(3) (x*+2)?—4x* (4) (x?—y?)?—25x%y?]
49 (1) 3(a—b)(b—c)(c—a)
2) 3(x+y)(y+2)(z+x)
(3) (a+1)(a—2)(a®*—a+1)(a®*+2a+4)
4) (a+b)(a—b)(a*—ab+b*) (a’*+ab+b?)
[(1) {(@=b°+(B—c)*}+(c—a)®

B0 2o0EE T TRESHT S
@) {(x+y+2)’—=*}—(y*+2°)

RD2D, 5D 2O00EY ZNZENREES

L, FBERHTILD

(3) (@®)*~T7a*—8

) (@3- (0°)=(a*+b>)(@®—b%) BB\
(@®)*— (b%)3=(a?—b?) (a*+a’b*+b*)
=(a*— b)) {(a®*+b*)*—a’b’}]

50 (a+b+c)(a®+b*+c*—ab—bc—ca)
[(a+b)*—3ab(a+d)+c*—3abc
={(a+b)*+c*}—3abla+b+c)
RIEE 28 (1) B8 ]

51 (1) (x+y+1)(x?—xy+y*—x—y+1)
(2) (1—2x—3y)(4x*—6xy+9y*+2x+3y+1)
[1) FIRE50ICBVT a— x, b—y,
c— 1EBEHREIZEIV]

52 (1) 0.15 (2 0.15 (3) 1.16 (4) 1.i48

4 3 -2 —31
53 (1) = (2) T (3) 5 (4) 35
8 5 26 29
(5) v (6) 33 (7) T (8) 198
5 (1) ELw
@ ELL AW, Q—/2)+/2 =1
(3) ELL %W, 0x/2 =0
@) ELLZW, /2 x/2 =2
55 . .
L2, 0By 4 s
o o } x

1 7, /16, (/5)?

2 =3, 0, 7, Y16, (/5)?
@ =307, % L 023, /16, (5

®
|
3
N
)
ENS
=

56 (1) 4 (2 6 (3) 4—7 (
[3) 7—4<0 (4) ¥2 —2<0]
57 (1) 17 (2) 11 (3) 13 (4) 6

=7

) /5 (6) 3/5 (1) 6/2 (8 14/6
61 (1) 18 (20 —20+10/2 (3 7+2/10
@) 35—12/6 (5) 4 (6) —1

(7) 48+13/15 (8) 4+10/35

62 (1) @ @) —@_2'—‘

3) —3—2/2 () _é:%s,/z

1 3/3 @ J2 3 -3 W2
@ -3/5
64 (1) x+y=10, xy=1 (2) 98 (3 970
[ R IFEARHFR x+y, xy CLS NS
(2) x®+y?=(x+y)*—2xy
(3) x*+y*=(x+y)*-3xy(x+v) |

65 (1) (1 —2/10 [2] 38 lal  74/10
2) 2/5 [(1) %=3 lm” 3 Y10
4=t 3) -2,
eesbelerg) o)
66 (1) 63.2 (2) 0.632 (3) 0.2

<4) 0.158 (5) 12.32 (6) 4.44
) 40X 102 =10/20

1 _J4 2
v4°><102‘ @ Joeo, m' 10

W~(6) HEBOEEL @) */44(;'
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) /430 +6 (6)
67 (1) a=1, b=2—/3 (
3) 2+V3 [
/3 1(=/17) & 2(=/2—2) DHIZH B »

5 V3 =L
3—/3 =1..

—2/— =3-/3

5 a=1,b=03—y/3)—a]
68 (1) 10+2/6 +2/10+2/15 (2) 2/6

3)

(5)

5F - RIS
(4)~(6) IV T b AKE]
) /3 +1 (2

1) /3+/2 ) M
(6) /30410
2

/6 +4/15
3
L2406
2

[3) 2)+(/3)=(5)IHBLT,
W2 +/3)+/5 z#F 5,

® 5—2/6 (9)

) JBHD)+2/31 =/(/3 +/1)°

=
=

) J/(16+3)—2/16-3 =/ (/16 —/ 3 )?

w

) V12—2/32 =/(8+4)—2/8-4

S

(5

) J/5+2/6 =/(3+2)+2/3-2
) J10-2/21 _J(T+3) 273

/7
) J20+2/75

=

/2

V(15+5)+2/15-5
2

J7+3/5 =/7+/45
L9405 4,

7z

70 (1) x+5>2«

&3 ORMAEHE 2 HT 5]
76 (1) k=-3 (2) k<3

[0 321 @) 35E50]

6
7 () 318 2 61|

[0 2= @ x<7]

78 n=3 [FRERXEM L n>2]
79 1) a>0 0k x>~2—, a=0 D& & R

i, a<0 DL & x<~z—

(2) a>4 Db s xs-2 a=4 DL 5 BIZ
FTRTCOFEH, a<4d DL & x2-2

[y 2l 2) (a—4Dx=-2(a—4)]
80 (1) —5=x<3 (2) x<-5 (3) x=5
@) iz (5) 5<x<7

6) —1<x§~15—8 1) x231 (8) 2§x<%

(9) —1<x<3 (© x=2
81 12RUT [BEO—MBEOFMHET vk

TaL x+25>%(4x+25)]

82 (1) Il x29 [ ~%—<x§—3~

(2 x=11, 12

83 (1) 21<3x+5y<35, 0<4x—2y<I4
(2) 125xy<27
(3) —24<3x—5y<—16, 29.25<xy<41.25
[ BI5E 10 2R ]

a7 . 23
84 sxcX [2.5§

85 —4=a<-3

[1 a5x<—1—1— 12& D 4<1— aSS]

86 331 [VACHxBEEILT2E
70x+40(50—x) =3000]

87 12km BLE [%+ﬂ3”ig7]

88 55 MLLE 63 WUT
(BT ot x & T2 L sitoful
8x+10 705 9(x—6)<8x+10=9(x—5)]

89 ()5 (5 B V/3-1 &) n—/6
(5) xZ1 DL & x—1, x<1DE&E —x+1
6) x=2—3 D& & x+3, x<-3DELE —x-3

4x—1

3 <3.5]

) xé% DL & 25, x<% DL E —2x+5
(8) xg—% Dk & 3x+5,

x< ——g— DEE ~3x~5

90 (1) x=x6 (2) —6<x<6

(3) x<—6, 6<x (4) x=—6, 6=x
() x=11, =5 (6) —5<x<11

(1) x<—5, 11<x (8) —5H=x=1l
91 (U x=6,4 (2) —10<x<-2

3) x<—%, 5<x (4) —%éxﬁ—%

92 (1) x=3 (2) WITNTOEH
(3) Midv @) x=3

93 (1) fx| @) {x—3] ) |x+4]
(4) |2x+3]

94 (1) [ 4—/6 21 V6 -2

(3] xé*% DE & 2+,

x< ———g— DEE ~2x—9

10 8 3
T, -—-3—<x [2] ?éxéb’

[3) x=—3 (3) |x—4|
95 (1) x=2,6 (2) x<2, 6<x
(3) 2=x=<6 (4) x=—1 (5) x=—1

(8) x<7?;~

2) [l x<—

[()~3) xz3, x<3 THAHT]

96 () x=4, —1 (2) x<—1, 4<x

[()~(3) x<0, 0=x<3, 3=x THAHT]
97T () € 2) € B) & @4) €
98 (1) {-2, -1,0, 1,2, 3, 4,5}

2 {0, 1, 4} (3) {1, 3, 5,7, 9, 11, 13}
4) {1, 2,3, 4,6, 8, 12, 24}

99 (1) BCA (2) A=B
[(2) A={2, 5}, B={(2, 5}]

100 o, {p}, {g}, {r} (s} {p, a}, {o, 7}
{p, s}, {a, 7}, {q, sh {r, s} {8, q, 7},
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(5, q, s}, {p, 7. s}, {g, 7, s}, {p, q, 7, s}
[BEZRoBEY 0 EoEE, 1EOHE, -
HADOBEFMBISEXLERD L L]

101 (1) {2, 3} @ {1, 2, 3,5,7, 8, 10}

(3) @ (4) {4, 6, 8,9, 10}

(5) {1,5,7} 6 {1,2, 3, 4,5,6,7 9}

(1 {4,6,9} ® {1,4,5,6,7,8,9, 10}

9) {4,6,9} 0 {1,4,5,6,7 89, 10}

a {1,2, 3, 45,67 8 10} 12 @
[(7), (9 AUB=AN
(8), 100 ANB=AUB]

102 (1) {2, 4, 8} (2)
3) {6} @ (3,5, 7}
[A=(1, 2, 4, 8}, B={2, 4, 6, 8}]

103 (1) {5, 9, 13, 17, 21}

(2 1,9, 25, 49, 81} [SOEF2HX
W2 E S={1, 3,5, 7, 9}]

104 P, S, T [ZhZFhoLEDELZAT,
TRTCOERVERADELRTHLEL T E
Ko 12EL, BHEAER, CAREAIIHLT
bZOWFEETHEND, BALEND S ]

105 A={1, 2, 5, 6}, B={1, 2, 4, 7}
AUB=(1, 2, 3, 5, 6}

[ANB={1, 2}, ANB={4, 7},
ANB={3} #XVHTH ETOEDED
Xk B, U={1,2,3,4,5 6,7 T
HbH2b, ANB={(5 6} L%V, TOAH
OEDEH 2% 5]

o

{1, 2, 4, 6, 8}

U U
3 3
A B A B
4 \[= (5 4
7 6 7

106 a=2, AUB={2, 3, 5, 6}
[er +75 3EB &koT 3a—3=3 25
a=2 TOLXE2a+1=5 &M% T]

107 ANB=A, AUB=B, ANB=0
[RVETEZZLDRMY U
2TV, HORSH]

108 [B26n (nid%%) &
T5E 6n=3-2n€EA]

109 [ADa=4n+1 (nI3%) L3+5L

4n+1=22n+1)—1€B X ->T ACB]
110 &Eix ), 3)

BEfsiZ 2 B 3 B

[(1) 1411142k~ E /2 CHEVD
1.414 LB E /2 12EL RV, ko7,
BEBSHEICRE S RV OTHETIER W]
1M (1) =2 2 % 3) B @ &

[(1) P={x|3<x<6}, Q={x|x>1} & ¥
5& PCQ kroT H]

112 (1) & (X)) n=6 (2) & (XF) n=5
113 (1) ax—-1 (2) a<5

(3) a<—2%F72F1=a (4) a=0

114 (1) {x|2=x<5} @) {x|—-8<x=7}
115 (1) x=*3 F7/-i% y=5

(2) x=4 2o y<4

(3) x=8 7> x=3 (3=x=38)

(4) x<5 F7/21x x=10

116 (1) m, n L% —FH3BEHK

(2) m, niTEdIT3D/EHTLRN

(3) x=022y>0 (4) x*0 F/z2iF y=0
117 () PNnQ (2 PnQ B PNQ
[() (2ofEH) »o (30

2) (30fEE) »2 (2 DEHTE )

(3) (3 DfEHTEL) 7o (2 DREETRW)]
118 (1) & (2 % 3) E (4 EH

[k, | Z%HETE, 1) m=2k, n=21&
T5E m+n=2(k+I0)

(2) m=2k+1, n=21+1%r¥5&
m+n=2(k+1+1)

(HBVIIREH : m=3, n=5)

(3) m=2k, n=21 t35& mn=202kl)
4) m=2k+1, n=210+1%r¥5¢&
mn=2(2kl+k+1)+1]
119 (1) % (&KHl:x=—1, y=—1)

2) B (KF: x=3, y=0)

(3) 1 (&Hl:x=3, y=—1)

@) & (KF: x=2, y=0)
120 (1) % (KBl :n=6) (2) E

[2) n?*+n=n(n+1) n&n+tlEbLs
it 2 DB TH D225 n+n id 2 O,
niE 3 DBHTH 5D nP+nid 3 OREH]
121 1) +4 @) +4 ) x

(4) E (5) LBETH
122 (1) YE+THENF (2 LBESN
3) +oskt
123 Qr®, ®L® ®L®
124 (1) +5%#H 2 LE+THEE
(B) LEZEH [Q) p=2q KRy IRV,
Bl x=y/2 +1, y=—42 ]
125 (1) +54%#4 2 LEHEE
(B) wFhTdnrw @) LE+SEG
126 [(=) a—k>0, b—Fk>0 b,
(=) (@a~k)(B=k>025a—k &
b~k FFEFE, E512 (a—k)+(b—Fk)>0
»5 a—k>0, b—k>0]
127 (1) BE: HHEH2ITOWT (x+3)2=0;
b LOHE (B), BEOHE (B)

2) BE: TRTOHAHIZDOWT n’+1
R b LonE (H), GEOmE (1)
128 (1) #:(x—2)(x—3)=0 % 5iL x=2 (IB)
AHE  (x—2)(x—3)=*0 22 51T x%2 (H)
(2) #H:xx2 26l (x—2)(x—3)x0 (&)
B x=2 25T (x—2)(x—3)=0 (&)

(3) Mi: Tx=2F /T x=3) biE
(x—2)(x—3)=0 (&)
IHE : Txx2 9D x+315 %61F
(x—2)(x—3) =0 ()
129 (1) dLoHEIE;
W BAROERMIIERBTH S ()
B EEHBTATTHAROEH TR (B)
B BROEH TR I UETEEEH TR (&)
(2) droHEITE;
B RITNARIEERFETH B ()
= EAHBCARTIUEEATEIE TR (B)
B PATNBE TR NIEAB TRV (8)
(3) drodaEIE,;
W6 OREKIE3OBEHMTHS (H)
B 3OBKTRITNE6 DRERTE Y (B)
B 6 DEHTRINE, 3 oBEHTRY
(€))
130 [(1) xHE: Tx=3 5D y=<2) 2513
x+y<5 (2) M :y=1%51F y*=y]
131 [ZhEnZz2HBEB 7 ICE LV ERET

2 (1) /3=r—1 @ /?=§

6 V3 =37 (2720 /3 =)

£y, /3 FEBETHDHILICTE]
132 (1) »EomEIZE:
W xy>0 %51 Tx>0 20 v>04 (18)
B Tx=0 F203 y=04 51 2y=<0 (18)
AHE L ay=0 %5 Tx=0 7243 y=0, (&)
2) HLOGERE;
WM Tx=3 120k y=6, %256IL
(x—3)(y—6)=0 ()
E: (x—-3)(y—6)*x0 % 5T
Tx*3 22 y=*6, (&)
KB T3 ho yx6, 25T
(x—3)(y—6)=0 (&)
133 [(1) %8 :a=0 $7213 b=0 % 51F ab*1
(2) B :as022 =0 %5I1F at+b=1]
134 [(1) xHB: n & HAZSE, n’+1 ik
BETH D,
REEBEKE LT n=2k+1 BT 5,
n*+1=(2k+1)°+1=2(4k*+6k*+3k+1)
(2) B :mP3OEKTENELIE
2m=3n REEFELT L] m=3k+1
% 51F 2m=2(3k+1)=3(2k) +2%3n
[2] m=3k+2 % 5iE
2m=2(3k+2)=3(2k+1)+1%3n
(3) MB:mbon A 3DERTLEVED
£, mn i3 3DEBETERV,
kI REKELT
[11 m=3k+1, n=31+1%51F
mn=3GklI+E+D)+1 LTREKEI
[2] m=3k+1, n=3I+2
[31 m=3k+2, n=3[+1
4] m=3k+2, n=31+2 %FA~<2]
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